6-304 000006300000000(0020090)
@)
1.
BT i
A'C 2’5
& A 5 I
PC; PCs
) < LC >« LS »
Kelvin
-1
r
v
2. — 0l
2.1.
-1 -2
2.3.
L A
a oC: c
S
-2 0=0(z)+0(z)" )
v ® 7 (2)
" ; ©) ©(z) (4)
2.2. 0(2)=,—(u,—6,)F(2) &)
3 F(2) = explcof (f —1)z/v}
0(2)=0,6(2) (4)
G(z) = exp{cof (g cosn —1)z/v}
%:2_0‘(90_9)_\,% (1) cof =2a/C,ry
ot C,ry 0z _
5 Ug 0,:
v (13 kgm)  C, o
(1000 JkgkK)  O: 0, : o
o
060- 8628 011- 706- 6176

-607-



6-304 oobodeanonoooOoO@bzoOsen)

3
3) P LLEL LI ERES S
4 ™
6 AL A A A n
4 ]
2
0
2 0 200 400 600
-4 @
-4
5 5 0 200 400 600 800 1000
=442 m° r=375m =100 W/mK @
0,=6.0 0©,=13.4 u,=80  Vv=09 m's
L,=06m L ,=100m A =15W/mK A =6.1W/mK,

a,=9.0x10" nf/s a, =1.45x10° mf/s pc, =1.67x10°

C

JmK  pc, =4.2x10° Im’K,

: o5 i
04 |~ 01(m/s)
| ——05(m/s
8.3 I $105m/s;
) ——2.0(m/s)

v A PC O-é L e—30m/s) | ‘ ‘
L, L, r 0 200 400 600 800 1000
@
B (4 (b) G(z)
F(z) 6(z) ®

r=35m a=100W/nmK L,=1.0m L,=100m
2,=15 W/mK  A,=14 W/mK a_=9.0x10" m’/s

C

a, =7.0x10" nfls  pc, =167x10° Im’K  pc,= O
2.0x10° Im’K v=0.1
3.0m's (1)
-5 @ (b) F(z) G(z)
(2
@ (b
1)
1)

62
6  pp295 296 2007.9

-608-



